Question Paper Title : FG_09

Date of Exam : 14-06-2019 10:00 AM

Reference 1D:(28126) Find the meaning of the highlighted word in the sentence: I’'m too old for this sort of
caper.

A.Escapade
B.Dress down
C.Seriousness

D.Aggression

Answer: A.Escapade

Reference 1D:(26013) TG (JUCN) T JUf W

A ZTHIAT g3 B E HISIATA 3 "R 38 Tord Ry

B.3CARMA S R § HIHCT 3 oR 38 Torkd R

o

C.3eRARMA AICE HIHCE A=H BR 2R

D &Il BT el

Answer: A ZeAIAT g3 WIR g IR 3 TR 38 Tora ROy

Reference ID:(31668) e g AFa Fid, g IrR aaEr 39 fYd ofme.

A.BSRIETG
B.3[gHGISIG
C. SR



Answer:

Reference 1D:(30866)

Answer:

Reference I1D:(16511)

Answer:

Reference 1D:(28888)

D.3GTR

A BERTETG

Identify the figure of speech in the following sentence: The stormy ocean was a
raging bull.

A.Simile
B.Euphemism
C.Metaphor

D.Apostrophe

C.Metaphor

IS A, B, C, D, E 30 F g &F I THHGIHS dis Ho- 99d 3Ted. Gl
IR Tt diF STUT 3{Ted. E 8T HIvcdTe! I =AT Ride! el e, D 8 F =T
Sdidhs gudT HHIBIAR 3MTg. E a1 ISR aaidl A 81 D T HUMNEE 3176, C 8T F &
QORT 3MTe. F =T THR P10 T 31g?

AE
B.B
CD

D.A

D.A

Supply the correct tense of the verb in the sentence: The farmers
sowed the seeds after they their fields. They __ very hard.

A.Had ploughed.......... work



B.Ploughed.......... working

C.Have ploughed.......... were working
D.Will be ploughing.......... will be working
Answer: A.Had ploughed.......... work

Reference 1D:(16865) SR @ 318 "HFTIHR' 30T $ 3R TOMHR, R WIeiade! aid dgH Uaid HIordr HTe?

A.33@5
B.1.5$1.5
C.31@4

D.3%$1.5

Answer: B.1.5%1.5

Reference 1D:(21226) SR LETTUCE 8T ¥leg TELTUEC 31d 30T COMPUTE 8T Ysg MOCPUET 38, @R
PUMPKIN 8T Ylsg 3.

A.MUPPKNI
B.MUPKPIN
C.MUPPKIN

D.MUPKPNI

Answer: A.MUPPKNI

Reference ID:(20718) SRAB=6,SANG=82 GIRL=92, WFRIES=__ ?

A112



Answer:

Reference 1D:(22824)

Answer:

Reference 1D:(23688)

Answer:

B.114
C.111

D.113

B.114

SR $ 3R '+ 3T @ 3R '—', IR Wiciale! Jald el Jaid HIvrr 318 2

A152 @65 @ 32$74$105@ 93 $42$ 37
B48$17$52$35@ 156 @ 104 $ 34 $ 74
C19@15@42$45%$36 @ 103 $42 $ 507

D144 @67 @52$35@56$ 104 @44 @ 13

B48$17$52$35@ 156 @ 104 $ 34 $ 74

IDY IT YT fagrelf e 3o

A3

B.IgY

C.3Ugl

D. 3Py



Reference 1D:(26011) &gy dc 3R,

A.SITCTE! o
B.®Rd d¢
D.SAR §¢

Answer: B.W g

Reference 1D:(21707) WA=1,B=2C=3, ... Z=26 &R Td Ub! S YT SRR 3MMg?

AD+O+C+K}={D+0+G}
B{D+O+C+K}<{D+0O+G}
C{D+O+C+K}>{D+0+G}

D{D+0+G}={N+P+1+N}

Answer: C{D+O0+C+K}>{D+0+G}

Reference 1D:(24169) WU BN T Yk We3-aa SRIcIel sg 3esl.

A 3T

B.3(THIh
C. 3T
D. 3{TATHD

Answer: C. 3R



Reference 1D:(28634) Pick the right idiom which fits into the sentence: She to all the criticism

A.Smelt a rat
B.Put the cart before the horse
C.Turned a deaf ear

D.Made a mare’s nest

Answer: C.Turned a deaf ear

Reference 1D:(18743) WU Ul AT TR 10T ?

AR UA faifgd o,
B.gWHT 313019 PRI 3R,
C. 3T SIq01 HXId 3NN,
D.RIUD! ¥

Answer: D.aﬁﬂﬁﬁ Td

Reference 1D:(32916) HERIPI BIUrT UTfifes TS YRS “didbioadidl FUH N SId 37?

A FETCd TIdG IS
B.7MUTes 811 ¢RI

C faupRITt fauegure?
D.faga et Rig

Answer: B.7MUTes 831 a"\fl'ﬂ"@



Reference 1D:(20999) ATt RepTHT SR 4R_T: 8, 14, 26, , 98

A.48
B.56
C.52

D.50

Answer: D.50

Reference 1D:(35163) GTelt fediean Tt 3 U YA 3Med ST 1 fe 3118, PHIordr u<h fia d 3ieswan?

A.231 A SECTOR 9, UKKUNAGARAM
STEEL PLANT, VISAKHAPATNAM
ANDHRA PRADESH

PH 0900500700

B.231 A SECTOR 9, UKKUNAGARAM
STEEL PLANT, VISAKHAPTANAM
ANDHRA PRADESH

PH 0900500700

C.231 A SECTOR 9, UKKUNAGARAM
STEEL PLANT, VISAKHAPATNAM
ANDHRA PRADESH

PH 0900500700

D.231 A SECTOR 9, UKKUNAGARAM
STEEL PLANT, VISAKHAPATNAM
ANDHRA PRADESH

PH 0900500700

Answer: B.231 A SECTOR 9, UKKUNAGARAM
STEEL PLANT, VISAKHAPTANAM
ANDHRA PRADESH
PH 0900500700

Reference 1D:(16892) 5/20 + 0.75-5/40 = ?



A.2.975
B.1.55
C.0.875

D.1.175

Answer: C.0.875

Reference 1D:(29877) Pick the right antonym for the word:
condemn

A.Praise
B.Unpopular
C.Dislike

D.Sorrow

Answer: A.Praise

Reference 1D:(32910) JaTdUe! HI0Td I HIeTHT 38?2

ARISR

B. ol (AT darcl dat
cals

D.UIRE 31ty JHTuT

Answer: B.Wfﬂﬁ fafor o gat



Reference 1D:(18716) e 37eamy AeMER . g a1 Ut YahTed! aIaure SRIedTy WTaliaud! HioTd
[ERICCECIENCASIOSK:

IV ENIGIES
B.U@T 9.

C.UrId Aagd.
D. T g,

Answer: D.Glarell g,
Reference 1D:(27364) Identify the figure of speech in the following sentence: She hung her head like a
dying flower.

A.Personification
B.Metaphor
C.Simile

D.Hyperbole

Answer: C.Simile

Reference 1D:(23434) R 1 e Al TS Tsg Sfie.
A SR
B

C. ol

D.{MHIY



Answer: C.goITur

Reference 1D:(19959) geId faUmTan St =01 9 a1 Ug1g i
I S AHesd GH Alg Jed 10T SHeiar drdar st arg fadr. e Spaan
fadR &1 Qe A8 Wiedl ol ok < el WUMTdl d Tl fadRedreR digt Ul &1
SHA ATe! TIed. Sedl B Jabdl B ...

A HITATAT T YTfSof

B.3eTdl AR areft

C.UH1 "M g9 dadi)

D . IR WIUR T ¢d SUIR

Answer: B. 3¢l Aok Treft

Reference 1D:(32909) HRATIA TaUYH "Sfea Recye 3iih Reped (STSATH)" ®IS 3MMg?

JAMNEEL Y

B.HMR
C.:dleldlc

D.4as

Answer: B.hT1IR

Reference 1D:(21453) WR CLEMENTINE BT ¥sg ZIBJBKQFKB 3d, @R CANTALOUPE BT XIsg
3.

A.ZXKQIXLRMB
B.ZXKQXIRLMB

C.ZXKQXILRMB



D.ZXKQXILRNB

Answer: C.ZXKQXILRMB

Reference 1D:(29396) Pick the right meaning of the highlighted word in the sentence:
She just sat there looking morose

A.Showing unreal excitement about something
B.To be sad about something
C.To be happy about something

D.To be scared about something

Answer: B.To be sad about something
Reference 1D:(34909) TR 19x22=82,34x2=7230117 x 6 = 46, TR 92 x 51 = ?
A.235
B.194
C.284
D.286
Answer: D.286
Reference 1D:(28607) Find the meaning of the highlighted word in the sentence: The descriptions of the

abuse are graphic.

A.Shocking
B.Implicit

C.Vague



Answer:

Reference 1D:(31669)

Answer:

Reference 1D:(30358)

Answer:

Reference 1D:(28861)

D.Petty

A.Shocking

...... T FRIGRINIR TG T IIT Bl el i,

A Ffee FHE Tio1-1946
B.HRT XmaH 3ffaH, 1943
C.HRA1 WId=g HIUal

D 10T ST RATT

A Diac T gIoH1-1946

Find the meaning of the highlighted word in the sentence: Despite their age they
were remarkably nimble.

A.Soft
B.Slow
C.Agile

D.Daft

C.Agile

Convert the simple sentence to a complex sentence: Your father is the man to
solve the problem

A.Solving the problems was done by your dad
B.Your father is the man to have solved these problems

C.Your father is the man who can solve this problem



D.Your father is the problem-solving man

Answer: C.Your father is the man who can solve this problem

Reference 1D:(27037) Find the meaning of the highlighted word in the sentence: In his office, he is held up
as an object of ridicule .

A.Inspiration
B.Mockery
C.Interest

D.Weight

Answer: B.Mockery

Reference 1D:(23942) Tttt faegrdf e et sie! e,

A.Gopled x YD
B.&CT x HITTG A
C. 4 x Fged
D.HYe x I

Answer: D.HYe x I

Reference 1D:(23915) Wittt faegrlf e SRieR Siet 3.

A TiE x fasga
B.ggf& x HRRIC
C.AH x foargm



Answer:

Reference 1D:(26020)

Answer:

Reference 1D:(26014)

Answer:

Reference 1D:(18489)

D.gS x AT

A g x faegd

Fleftedep! YR Uige AP I D10 3HTe?

A DTHRI IEIT I
BT Wde 1T I
C.§dIR IS I

D. 7R I8t I

B.fom ide It IemH

A4 T, St 31101 YRR WeUTd g e 3.

A TSI fafaerar

B.SI 1Y fafaer
C.uRfRufdet fafaerdr

D.adcte! Id

B 1Y fafaerdr

Afaea 3iieT Wredr. I1 areRdd UIRT HIuTdr?

AFHHB Bl
B.3{BHD Bl
C.FHull

D.HTd



Answer: c.ameﬂ

Reference 1D:(19986) RO T RecTal FATT Req ez,
ATY

B.dhdl

D.I8R

Answer: AY

Reference I1D:(30131) Find the meaning of the highlighted word in the sentence: An unhappy family life
may inhibit children's learning.

A.Frees up
B.Motivates
C.Hamper

D.Encourages

Answer: C.Hamper

Reference ID:(24677) gTdTe arerd ReeTH ST HRUgrg 9afd 9 Ueg, Adsl.
YAbTBTd dhaied] b1 Jg AU ........... SIUGIG]
A a8

AGEGILY



.
D.fAw

Answer: C.fFarren

Reference ID:(22570) Grefieiden! gafd dg™ uafg HIurdr 3ig 2

A25+22+35-72-102 +83-45-27
B.48 +17 +25-32+ 126 - 104 - 44 - 71
C19-12+15-42-36 +103-45-107

D.44 -67+25+32+26-104 +44 + 13

Answer: C19-12+15-42-36 + 103-45-107

Reference I1D:(17627) 15 A7 1/6 + 40 =HT 15% <A1 200% + 0.25 x 60 =

A.31
B.29.5
C.31.5

D.28.75

Answer: B.29.5

Reference 1D:(20464) X o gférur qd faRiar dis ofrg. df 90 3i%1 Sididrs aesdl. W dl 70 3 Iodids aesdl.
HIT Al 180 3R g&&dl. T a) 90 3 Iuldicbs da5dl. Riac! dl Slaldbs 25 37 da5dl.
3T A HIUTAT fERISAT IS B IHT 3] ?

ATEH
B.gfaror



Answer:

Reference 1D:(20491)

Answer:

Reference 1D:(20745)

Answer:

Reference 1D:(31666)

D.3™M

D.3™M

SRW+H+A+T=52S+H+E=32, RW+A+S+H=___

A.51
B.54
C.53

D.52

A.51

SR MO = 78, MCQ = 729, TR 1113 3 THd

A.AUI
B.UAE
C.AAAC

D.USA

B.UAE

fgerrer Fger A Je getaud! Hivf Aad?

A.HIgHG Jrged

B.%. TH. gRN
C.3celIel HURATH! SRR

?



ISCIRGIRERS

Answer: ISCIRGIRERS

Reference 1D:(18462) 3o T AT SieadTaT HH R,

3o ST0T ARE.
T S IR Thd had a1 SHARI I Wit HIordl YA arg 3yd?

A3 TR Ao Sieadr=l I8 4R ST 107 HIRel.
B. 31T e AcTeAT SIdmdl 4/ &% S107 JRAl.

C. 3o TR AT Sl #H 4Rl d §107 HRal.
D3 TR ToaTe Sl -1 YRl FU §107 HRel.

Answer: B. 3o e AcT=AT SIcdmdl 41 &%+ S107 AR,

Reference 1D:(30893) Identify the figure of speech in the following sentence: That urban legend turned out
to be a true myth.

A.Hyperbole
B.Personification
C.Oxymoron

D.Simile

Answer: C.Oxymoron

Reference 1D:(32914) HRATd 819 Wi Irivr siTsss Aedd SRIUMRT HIUT Ufedl foTegT sar e?

A 3SR, ISR



B fafemm, wem yew

C.3SHD!, IRD

D.®1HRY, AH

Answer: C.3ZID!, B
Reference ID:(25158) TgaRI® Xeq @I, ST IUSHROMET Id a9l Tadrd
A DS
B.HIRT
C.dxzU
D.5d
Answer: B.HRI
Reference ID:(27618) Identify the figure of speech in the following sentence: This is another fine mess you

have got yourself into.

A.Personification
B.Metaphor
C.Oxymoron

D.Simile

Answer: C.Oxymoron



Reference 1D:(20210) X 9 Uy feRie dis 3g. di 90 3i=1 Isrdics dadl. J dl 45 3% SAids dosdl. 7
dl 180 3fR ge5dl. RG] Al SIdIdha 45 I dosdl. T dl PIUAT [GRITT dI8 T IUT
31?2

ATd
B.Ufgg

C.3R

D.Gf&ur

Answer: A.q\?f

Reference 1D:(32908) TH-IE" & Fadeiiasd ... il & P,

C .S SiH®R

D.@4Ud! =Mg

Answer: A ST §.3R. ATdSH

Reference 1D:(30104) Pick the right antonym for the word:
Encourage

A.constraint
B.Aid
C.Relief

D.Service

Answer: A.constraint



Reference 1D:(27010)

Answer:

Reference 1D:(28380)

Answer:

Reference 1D:(29369)

Answer:

Select the correct passive voice form of the sentence: | have placed the package on
the table.

A.On the table is the package being placed by me
B.l am placing the package on the table
C.The package has been placed on the table by me

D.The table is where the package is being placed

C.The package has been placed on the table by me

Find the meaning of the highlighted word in the sentence: Even at 66 she was as
feisty as ever.

A.Timid
B.Dull
C.Flat

D.Spirited

D.Spirited

Pick the right meaning of the highlighted word in the sentence:
His elaborate deception fooled his family for ages.

A.Resorting to fraud or trickery
B.Being honest about something
C.Behaving hateful with everyone

D.Being in a joyful state

A.Resorting to fraud or trickery



Reference ID:(25412) Tyl I Ysa Wiehiate! g Weft faue shewr.
ATET + S
B.AE + B
C.Hgl + Bt

D.HgT + 3mf

Answer: C.Hel + B

Reference ID:(17119) Wit Jafd de uafd SHIurdr 3e?

A.350 T 70%
B.850 dT 1/4
C.0.35 x 900

D.900 =T 2/5

Answer: B.850 dT 1/4

Reference I1D:(17373) 450+3.25+4.0-(5.50+3.25-4.35)=
A.7.45
B.8.05

C.7.35



D.7.55

Answer: C.7.35
Reference 1D:(34936) SR Gichfde HINd 432567 § 523476 318 , IR 458762 § Hidbfdd HNd BT A2
A.548671
B.549771
C.549671
D.549661
Answer: C.549671
Reference 1D:(24450) gYTc areTd RepTH! SR HRUGTY Jatd a1 e HasT.

aH faag Frdiedn SHeR UM el ........ fAreaTetl.

A IPHAGRHT
B.goiaAt

C.gdut
D.HRG!

Answer: B.Ioira-1

Reference 1D:(32917) "RIGAHRI URABTH" DHIUAT ASRIURA URIG Ter?

A TS

B.cld1%



C. SR

D.3{gHaldlq
Answer: B.cld1$H
Reference 1D:(30385) Find the meaning of the highlighted word in the sentence: The ball

gathered pace as it rolled down the hill.

A.Speed
B.Dust
C.Heat

D.Dirt

Answer: A.Speed

Reference 1D:(28353) Find the meaning of the highlighted word in the sentence: He is very discreet in
giving his opinion.

A.Open
B.Tactless
C.Cautious

D.Careless

Answer: C.Cautious

Reference 1D:(32915) 10! it RIgor ST i) AT ha.

A SR ol
B.®HAR USRI Ha



C gAY YISl Hd
D i8I H=E Hd

Answer: D.HSl BTG Ha

Reference ID:(31663) YRATd TATaRUARHT S U HI0T SSEc Sid?

AT HUR

B.IRY HHR
C.H1Yd ST

D.XTHcd s

Answer: D.Tl'ﬁlé_q’ e

Reference 1D:(31662) SIffTele g ... 39 {4 3.

A 3T
B.Uf&H STt
c.fegr
D.HERTY

Answer: A SHT™HH

Reference 1D:(24904) gdld s qygrd! 417 Teg fAdsT.
HeTehToo! HISHIRR URIRTT Heof fthitl

AT CHT
B.UrIdle



C.aredard
PRIGLIENI

Answer: PRIGLIENI

Reference 1D:(24423) WU SATHRUTAT P Y[ea aradral uarg fHasr,

A IR TIRRT SledT SuSel.
B. T THTG faaRHIosT 317G
C.q ARYCUU = D14
D.gITan uiomy fafta e a.

Answer: B. T WHIG fAaR YIS 3018,

Reference 1D:(29650) Pick the Synonym for the word:
initiated

A.Begin
B.Halt
C.Stop

D.Abolish

Answer: A.Begin

Reference 1D:(19732) e fogTs urdtar a1 ol o Wreliate! PHivaT o 3ieswar?

ATTTATd U ORTd e 1o o SR
B.fd< 3 reil fUdiraes = urdtaRa AgHl jMgdrd




C.TROGRAT NPT U3 [hR1d, SH1a=gS S6l! TBIrd
D.gU S&1ag=a1 9ol

Answer: C.TROIGIAT T O {14, SIS STell <TesladTd

Reference 1D:(16538) 120 A1 30% - 12/20+1.5=__
A37.4
B.36.65
C.36.9

D.37.30

Answer: C.36.9

Reference 1D:(29623) Pick the Synonym for the word:
mendicant

A.Beggar
B.Lordly
C.Attached

D.Plentiful

Answer: A.Beggar

Reference 1D:(17881) XBTY &T12.5% 3. AT Y &1 X Al % 3Tg.



A.400
B.25
C.750

D.4000

Answer: D.4000

Reference D:(31664) TaTd SaTUD! DIV o8 THGT T =T GI=araT YT ATg1?

A TSR
B.H U

C ISR

D.HERTY

Answer: C ISR

Reference 1D:(32913) AIHRTR! &1 Ahd WRBR, AIBIgR, TGS 3R HIUT TRHTT el gial?

A HTHT et
B.3(sTgH feihT
C IS WM
D.SH Th. B!

Answer: B. 388 H fofd

Reference 1D:(22596) SR $ 3MT] '+ 3T @ 3R '—', TR Weiiau Jafd HiaT gufg Hiurar 3img 2

A22$11@72$45@65@ 13 $42$57



B.118$17 @52$35@ 156 $ 104 @ 44 @ 37
C79$45$162$45$36 @ 103$42$ 17

D38@ 107 @52@35@56$104$144 @ 7

Answer: C79%$45%$162%$45%$36 @ 103$42% 17
Reference 1D:(30612) Pick the correct meaning of the highlighted idiom: He is not worth his salt if he fails
now.

A.To be puzzled
B.Quite worthless
C.To be critical

D.To not be an adventurous kind of person

Answer: B.Quite worthless

Reference ID:(20972) i did R ST HR1: A, M, B, _,C,0,D,P, E

AH
B.G
C.N

D.L

Answer: C.N



Reference 1D:(31120)

Answer:

Reference 1D:(23661)

1 A
Lol {
] a
N i Sy 1
J ol
y -
L} |
F ™ L
i £ I
L
=
ity
= )
" S
N -
! d
c |
9 {
s b
.
4
= )
e
i
)
b
=
nef
)

HGRISEIAT AeTeNd QT gafdeen fSiegr Wil HIomar W87

A FAeToT

B.Y%

C.5ITe

DASEHIC)

D.Sle3 g

Greiterde! T Rreare gabi siat s

AR - R

B.&UT — Y
C.PY - TRIP
D3R - TUIe



Answer: AR - RRg

Reference ID:(17854) 42 A1 1/12 + 12 =T 20% =41 200% + 0.40 x 140 =

A.65.8
B.66.3
C.63.55

D.64.3

Answer: D.64.3

Reference 1D:(30639) Convert the following active to passive voice: The police have caught the thief

A.The thief was caught by the police
B.The thief has been caught by the police
C.The thief had been caught by the police

D.The thief was to be caught by the police

Answer: B.The thief has been caught by the police

Reference 1D:(32912) IRRISHY HIUAT &R "SIRTAPH TN AT Fged STd?

A CERIGA
B.8RER

C.A-ara
DB

Answer: DEILEE



Reference D:(17400) 5.30 +5.25 + 6.75- (4.50 - 7.75 + 1.25) = ___

A.18.15

B.18.05

C.18.30

D.19.3

Answer: D.19.3

Reference 1D:(19451) "3 TSI TGV HET gaad ST HIUR 3R, &1 aTaiTdiel e I IR
g1 AR W GaTaNgd e ST 47T 31 Siies.

A.TIEH SMTBRIE B el AT
B.3{d fayRy 3r=it ekt

[a}

C.A8IHUCT ]

D IR g BR-WIC HUH A Ul Y fayr STt kit

Answer: D. IR d WR-dI¢ ST 7 odl Uedh+ [ayRT SaumR} et



Reference 1D:(18235)

Answer:

Reference 1D:(32911)

Answer:

Reference 1D:(26012)

RN FHETY THId g
JfgenT Yad Qyden [y
Tl W9 o forar g a1 e
TS $dl, URHd gHeTd MY

RN iSIde g iz,

A ST
B.UTGIh A
C.agdfdedr

D.Faag

C.agdfadadt

- HIRART I Bdl DI 3HTe?

ATAE
B.forett

C.hUD
D .SIREH

C.®HD

37-Rye Tada wreiats! &g defid Ha?
(1) T STFOT UTUgi feat SeTd URERdd daga
(2) T SATOT YU et HHa-Aita gReRIdia Tagq

ATad (1)

B.Wha (2)



C.alsl (1) 37fdr (2)

DY (1) 31T (2) ATE

Answer: XA (1) 3o (2)

Reference 1D:(26019) HRAT GeAT SHaTaR Ul I &A1 TpUT ST fobdt 3iTg?

A.30
B.15
C.18

D.20

Answer: C.18

Reference 1D:(17146) 7.05+85+0.55- (4.30+525-9.75)=
A.16.30
B.16.25

C.16.15

D.16.75

Answer: A.16.30



Reference |1D:(27872) Pick the correct meaning of the highlighted idiom or phrase from the following:
Atul always plays second fiddle to what his brother says.

A.To play a secondary role of less importance
B.To play a musical instrument to entertain someone
C.To interfere in all matters

D.To not be confident to make decisions

Answer: A.To play a secondary role of less importance
Reference 1D:(29115) Fill in the blanks with the correct form of future continuous or
future perfect tense: They the results by next Friday.

A.Will have declared

B.Declared

C.To declare

D.Had Declared

Answer: A.Will have declared

Reference 1D:(18970) Qe YsaTal AN / JHN ThR 3.

HUHY

A FHYRY

B. gl degey
C. 3T

D. ¥ sgdife

Answer: A.ﬁw



Reference 1D:(27899) Find the word that is opposite in meaning to the word: Amiss

A.lmproper
B.Bachelor
C.Suitable

D.Bad

Answer: C.Suitable

Reference 1D:(24196) WU THRUM T S Xeq-olRa Sreel Ve el

A TRET
B.Jdc

ACRIBEIL]
D JaaRford

Answer: c.foHy

Reference 1D:(21480) SRA=1,B=2,..M=13; 3TN =13,0=12, ... Z= 1, TR TTAd Jb! HIUII
Jg1g SRR ]2

A{B+U+S}<{B+0+Y}
B{B+U+S}={B+0+Y}
C{B+U+S}>{B+0O+Y}

D{B+U+S}={F+L+Y)}

Answer: B{B+U+S}={B+0+Y}



Reference 1D:(26018) Ydg-1gm &3 i TIR GRS el STara.

AT

B. &I
C.YHIT

D. q&-a- eyl

Answer: D.q&‘[-mﬁ)[

Reference 1D:(19224) " HT BIU" T JTeREIRTET WIeadd! Hiordr 3 Iy 3mg?
A Y51 d1Ges BIUl
B. YRS BR Bl
C.TTRITRIT 311 I4T FATelei! 3 dodcile He

D . TERITeN dT6 Gadre He TUH S&1d Y& HE gul

Answer: C.TEERN 31T I1T AT 3T dSdtd He

Reference 1D:(18208) WWG{W RIGRIY STdes! TETR]T a¥d, Afdad, TR, TRATd gagd uul

aRreegquf 9ufF Fa S| de T 3THR B,

A YA
B.3(0gdl
C TaHTalfer
D. b



Answer: C.Eﬂ-ﬂﬁm%[

Reference I1D:(31667) WWWW ¢RI Fieeie 3178 2

A ZoHT
B.3IW
C dider S8
D.Sgedrs!

Answer: D S arst

Reference 1D:(27391) Identify the figure of speech in the following sentence: The chair groaned as he sat
on it.

A.Oxymoron
B.Simile
C.Metaphor

D.Personification

Answer: D.Personification

Reference 1D:(26015) CRIIGRSEIG] =7 JUT 3l I
A.31-R1g daeq
B.UF-Ryg daedq
C . uiugeag

D.AHIRTY



Answer:

Reference 1D:(26016)

Answer:

Reference 1D:(19478)

Answer:

Reference 1D:(25185)

B.UF-Rig daeq

GIATUD! HIVA BRI FToia- [ gIoard SHTgd?
(a) Gfife Ao 7y &0

(b) AR

(c) GagH

AT (a)

B.Be (b)

C.aIl (a) 3T (b)

D.(a), (b) 30T (c)

C.aIg! (a) 31T (b)

TYTd feoiedT ATRERTE A7 aT0R SRTeId a1 Tl e 3ficswl. 3ard giol

AT =T urge Yt i srarep et

B.®TIHHIT dIGHH SIadH PI-alS arelad T UIg- 94 Hid 3aTe .

C. U IRSIHRET H& ol AT AT,
D.GRIAR R0 Gl a1 3fdldp e,

B.®TIHHId AP S Pi-alS arelad T UIg- 94 Hid 3dTe .

'IVEDRT T e WIeldue! Ty Gt faug 3esar.
AT + 3T

B.3R + S0



C.3[aedT + 390

D. 3T + ¢TSS

Answer: C.3rqTeT + é’w

Reference 1D:(31670) Tretades! HIurd et T A faafvaet smg?

ATt

B.3{cIdh-ial

c.aH

Answer: A.ETI&°[

Reference 1D:(24931) Jeid eaqggNIa! Iy e fAasr.
1Y U d1ddtd AR SHURT

AGRITTH!
B.AMR
C UIwUrg !

Answer: B. MR



Reference 1D:(18997) Ted Uear T U / 9N ISR 4T,
quf

ATg

B.WeugdIle
C. 3G

D . qGeY

Answer: B.%@Eﬁ%

Reference 1D:(31665) URATT AU ST SRIMh g HORTST HIRIT Ul 3Tg.

ADST

B.grIcS fdhired
C.3iReferan

D.gAACE Ty 3t AR

Answer: AEV K]

Reference 1D:(22242) Wrefieite! gafd HIdT gafa SIvrr 38 2

A15-22+65-42-62+103-45-27
B.18-17+25-32+26-104 + 44 + 37
C.19-12+165-42-36-103-45-17

D.38-107 +25+32+26-104 + 44 + 37

Answer: B.18-17 +25-32+26-104 + 44 + 37



Reference 1D:(27645)

Answer:

Reference 1D:(29142)

Answer:

Reference ID:(19705)

Answer:

Pick the correct meaning of the highlighted idiom or phrase from the following:
You need not worry. Her injuries are minor. She will
come around soon .

A.To recover from something
B.To appear
C.To take place

D.To go around something

A.To recover from something

Pick the right meaning of the highlighted word in the sentence:
Some of the tribals found in Andaman islands are indigenous to the place

A.An immigrant of some other place
B.Imported from someplace else
C.Native to a country or place

D.An alien person or thing

C.Native to a country or place

qa e 0T gU1 S UaTa! I Ui st diedm T ... HE Tl

INCIE]]
B.Yial
cC.Hiel

D.&iql

C.Hiel



Reference 1D:(26017) GTeieTde! HIoTdT o= HeTfafaedT o= 31g?
A FTGRTRAR
EXIURIER)
C. 3{BIORA

D.XRmr

Answer: A HTGITTEN

Reference 1D:(20237) TS AU AT TRIYREA gd fGR 7 for #. arera.
W ) Sdidhs gl T 4 foo. 1. Araal.
T dl Iodihs gaddl 3T 1 oo, =Y. arerdl.
T dl Iodibs gaddl 3T 7 fos. =Y. arerdl.
T dl Soldidbe gaddl SHTMoT 4 T 1. Tretal.
W @ Ioididhs dadd! 31T 3 fob. A, arerdl.
ol AT TRTARYA fobed g 31182

A.4 fob 1.
B.3.5 fob .
C.2 & .
D.2.5 fob Hi.

Answer: A.4 5 =Y.



